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(1) 20— 1)? + 50 - 8 #ERSWT B2, ([7]) x (41]) TH 5.
(2) FER 3r+ 1] < 20+ 1O, [v]|<o<[x|TH 3,
(3) 2B y =222 +ax +b DZ T 70, 25 (1,3), (2,5) X#Z L =, EHa,b

DOfllE, a=|+|b=|#|TtH%,

(4) 0° <9 < 180° £ T 3, tanf = —2/2DL &, sinf =|*|, cosd=|7|TH 2.
(5) STDF—%1,3,5,9, 12 DFEZ | 7], BEERFEE | 2| THs.

(1) a =

ﬁ ZOWT, FREAERELT Y o = |F|THEB, LEMoT,

-5
o DBRERNE | > | TH 3,

(2) 145 1000 X TD 1000 HOEMD 5 5, 15 OfEHE[ 2 [HD D, 3 D%
i 5 DT H 2B kD 5,

(3) 2R y=a2* +ax+0 7D, v =1 CR/ME4 L 22 %, E8a,b DEI,

a=[v] v=[%]cH3,
(4) £C =90° D AABCIZBWT, #BC LI D%ZBD=1¢%% K51t %,
tan ZABC = 0.2, tan ZADC =03 Th2 L %, AC=|F| CD=|V|TH3,

(5) 6fHDF—% 12,5, 3,9, 1, 14 OfRfEd | 7| wo i | | Tz,

0<a<2¥23%, 2RHEB y=2"—3ar+3a®> — 2a (a < v < a+2) DE/MER
A, BeKfE% Be¥%. A, BREBaZRVTRTY, A=|F]|, B=|=|Td
5. B-A<3THHLE, aDEORFR|X|<a<[}]|TH,

[4] V4% 1 OFCPHET 29/ ABCDIZDWT, AABCHIEZMBTHIUL, AB =

ThHY, /ADC=[»[TH 2, XBICAD=V2THNE, CD=|E|THD, W
faft ABCD OEfE | 7| TH 5.





